C:# Division as Repeated Subtraction (Number Line) Name:

Use the number lineto solve the division problem. Answers

1) 20+5=
0 20 1.

4+t +—+—+——t+—+—+—+t+—+—+—+—+

2) 24:6=

3) 32+-8=

4) 28+7=

5) 35+-5=

10.

6) 28+4=

7) 30:6=

8) 32+4=

9) 24+4=

10) 21+7=
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Division as Repeated Subtraction (Number Line) Name: Answer Key
Use the number lineto solve the division problem. Answers
1) 20+5=
0 .5 2 2 5.2 1 4
4O+
2 4
2) 24+6=
o .20 28 L L. % 3 4
4+ ———+t+—t—+—+——f+++ot+++
4. 4
3) 32+-8=
o .5 B 8 A > !
T
6 7
4) 28+7=
0 .t 7 1 L. > 7 >
4ttt
8 8
5) 35+-5=
0 b b hm b b5 N
e O
10. 3
6) 28+4=
o 4 B - B 4 4 4.8
44—ttt
7) 30:6=
0 .08 i 2 L L. %0
4t

9) 24+4=
0o 4 -4 4 -4 -4 4 24
s P e Y S T
10) 21+7=
0 -7 -/ il 21
O T SR NS S i S T S
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C:# Division as Repeated Subtraction (Number Line) Name:

Use the number lineto solve the division problem. Answers

1) 40+5=
0 40 1

e

2) 56+7=

3) 15+5=

4) 28+4=

5) 35=7=

10.

6) 40+8=

7) 24+4=

8) 30+5=

A
v

9) 20+4=

10) 42+6=
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Division as Repeated Subtraction (Number Line)

Name: Answer Key

Usethe number lineto solve the division problem.

3) 15+5

...................
..........
~
-

-------
.......

. Na

* ~

4) 28+4

UL pEEE——y
-
* s *

S

-----------
""""""

5 35+7

..................
""""""""

---------
- ~
-* Y

6) 408

PETT TS LETY
ey ~ -
* .~

-------

7) 24+4

PELLTS POLT TS
. ~ ~
. ~ o* ~

------
-
* )

8) 30+5

------
-
* b

------
. ~
- S

-----
''''

9) 20:4

---------

........
.....
-

~
Y

Answers

1 8

2 8

3 3

4 V4

5 5
—

6 5

4 28 7 6
—o—p

8 6

35 9. o)
O+

10. 7
—
——
——
—p

10) 42+6
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C:# Division as Repeated Subtraction (Number Line) Name:

Use the number lineto solve the division problem. Answers

1) 20+5=

<

v

2) 28+4=

3) 30+6=

4) 42+6=

5) 48+6=

10.

6) 56+8=

7) 24+6=

4
¥

8) 40-8=

9) 42:7=

A
v

10) 32+4=

4ttt
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Division as Repeated Subtraction (Number Line) Name: Answer Key
Use the number lineto solve the division problem. Answers
1) 20+5=
0 b 5 5 5.2 L 4
4+ —+—++—+P
2 7
2) 28+4=
04 A A A4 4 4 4 39
O
4 7
3) 30:6=
0 5 5 6 5. s 8
4+t O
6 7
7 4
8 5
9 6
10. 8

0 -4 -4 -4 -4 -4 -4 -4 4 3
------------------ s AL DN PRI UL PRl DN
‘ | RTINS B ROTRA I BRSBTS SETEETRG Rt HRNTT R Ral AT ROt Nk —_ 1 >
I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 I 1
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C:# Division as Repeated Subtraction (Number Line)

Name:

Usethe number lineto solve the division problem.

1) 24+6=

4

2) 35:7=

3) 18+6=

4) 30:6=

LS

5) 15=5=

6) 42+6=

7) 56+8=

8) 42+7=

9) 48:8=

10) 28+4=

10.

Answers
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ﬂh Division as Repeated Subtraction (Number Line) Name: Answer Key

Use the number lineto solve the division problem. Answers
1) 24+6=
0 0 5 © L. A L 4
44—t
2 5
3 3
1
4 5
3) 18+6=
0 =S 5 el 18 5 3
44—t
6 7
4) 30+6=
0o 6 6 6 6 6. 30 7 !
4
8 6
5) 15:5=
0o b 2 5. 15 0 6
44—
10 7
10) 28+4=
0 4 4 -4 4 -4 -4 4. 28
4t o
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C:# Division as Repeated Subtraction (Number Line) Name:

Use the number lineto solve the division problem. Answers

1) 56+7=

2) 40+5=

3) 20+4=

4) 42+7=

5) 56+-8=

10.

6) 20:5=

7) 24+4=

8) 48+8=

9) 12:4=

10) 42+6=
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Division as Repeated Subtraction (Number Line) Name: Answer Key
Use the number lineto solve the division problem. Answers
1) 56+7=

0 -/ 7 -7 7 -7 -7 7 -/ 56 1 8

2 8

3. o)

a. 6

5. /

6. 4

7. 6

8. 6

9. 3

10. /

6) 20:5=

ammE . e, - -
- ~ - ~ - - - -
" L .- L - Sea - L
~ - o
N S

7) 24+4=

------------------------------
..................................
~~~~~~~~~~

9) 12:4=
0 A A 4 12
== : : MRAECR oz | : e PP Ciis : | — g
10) 42:6=
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C:# Division as Repeated Subtraction (Number Line) Name:

Use the number lineto solve the division problem. Answers

1) 30+6=
0 30 1.

4+

2) 32:4=

3) 42+7=

4) 40+5=

5) 40:8=

A
10.

6) 42+6=

7) 48+6=

8) 20+4=

9) 20:5=

10) 56-8=
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ﬂh Division as Repeated Subtraction (Number Line)

Name:

Answer Key

Usethe number lineto solve the division problem.

8) 20+4=

------------------------
--------
~~~~~~~~~~~~~~

9) 20:5=

------------------------
Pise Seay .= e, . Sray P A
-* e * “a [ Y . a3
- R LN R CR R

10) 56-8=

Answers
1 o)
2 8
3 6
4 8
5 5
6 7
7 8
8 5
9 4
10, /
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C:# Division as Repeated Subtraction (Number Line) Name:

Use the number lineto solve the division problem. Answers

1) 24+8=

4 L

2) 56+8=

3) 24+4=

4) 32+4=

5) 48+8=

10.

6) 24+6=

7) 28+4=

8) 21=-7=

9) 28+7=

10) 40:5=
0 40
|
1

-ttt

A
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ﬂh Division as Repeated Subtraction (Number Line) Name: Answer Key

Use the number lineto solve the division problem. Answers
1) 24+8=
0 8 8 8 24 L 3
4ttt
2 7
3 6
4 8
3) 24+4=
0 4. A A 4 A 4 s O
44—t
6 4
4) 32+4=
0O -4 -4 -4 -4 -4 -4 -4 473 7 7
4o
8 3
9 4
10, 8
6) 24+6=
o .0 ° ° L. A
4+————+t+——+—t++——+t+++ot+++++t+
7) 28+4=
o & A A A 4 4 48
O
8) 21+7=
0 -1 -1 -1 21
44—ttt ——f o+
9) 28+7=
o -l -1 -1 (28
4+t —t+++++o+t
10) 40+5=
O = = 2 = = 2= »m4a
- — - — A D
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C:# Division as Repeated Subtraction (Number Line) Name:

Use the number lineto solve the division problem. Answers

1) 40+5=

2) 28+4=

3) 42+6=

¥

4) 56+8=

5) 56=7=

10.

6) 20:5=

7) 35:7=

8) 24+8=

9) 30:5=

10) 32+4=
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Name:

ﬂh Division as Repeated Subtraction (Number Line)

Answer Key

Usethe number lineto solve the division problem.

...............................................

. . . W . N . . 0 . o ol e .,
| R AN | ST BRSNS TR RO T I OIS S Tl M ' i |
I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 1 1 1 1 1 1 1 I 1 1 1 1 I

6) 20:5=

-----------------------------------------
.......................
....

R Y

7) 35:7=

----------------------------------
...................
~~~~~~~~~~~~~

8) 24+8=

-----------------------------
-------------------
_______________

LYo

9) 30:5=

-------------------------
.................................
~ 3 -
- 3

o*

10) 32+4=

................................................
~~~~~~~~~~~~~~~~~~~~~~

Answers

8

10.
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C:# Division as Repeated Subtraction (Number Line) Name:

Use the number lineto solve the division problem. Answers

1) 24+4=
0 24 1
4L

2) 56+8=

3) 35+-5=

4) 48+8=

5) 42:6=
0 42 9.
4+

10.

6) 24+6=

7) 48+6=

8) 30+5=

9) 28+7=

10) 28+4=
0 28
4ttt
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ﬂh Division as Repeated Subtraction (Number Line) Name: Answer Key

Use the number lineto solve the division problem. Answers
1) 24+4=
0 . 4 4 4 4 4.2 1 6
4t
2 7
3 7
4 6
5 7
6 4
7 8
8 6
9 4
10 7
8) 30+5=
0 2 = 2 2 2.0
Y A O
9) 28+7=
0 -/ -/ -/ -/ 28
4+—————t+++—+—t+—+——t++—+t—rrt+ro+t++
10) 28+4=
o4 & A4 4 4 428
4+ttt
Math 9 1-10 90|80 70|60 |50]40]30]20[10] O |
www.CommonCoreSheets.com




C:# Division as Repeated Subtraction (Number Line) Name:

Use the number lineto solve the division problem. Answers

1) 20+4=

4+t t+—+—+—+—+++

2) 32+8=

3) 12+4=

4) 18+6=

5) 56+-8=

10.

6) 24:8=

7) 56+7=

8) 15+5=

9) 24+4=
0 24
4+ttt

10) 40:5=
0 40

4+ttt
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ﬂh Division as Repeated Subtraction (Number Line) Name: Answer Key

Use the number lineto solve the division problem. Answers
1) 20+4=
0 A A AL A A S
4+ttt ——+++++
2 4
3 3
>
4 3
3) 12+4=
o .2 4 212 > !/
44—+t +o+—+—+—+—+—++++
6 3
4) 18+6=
) 8 6. 18 7 8
44—ttt
8 3
9 6
10 8
8) 15+5=
0 .2 2 2. B
4+ o+—+—+++
9) 24:4=
o 4 . o B B .2
4+ttt
10) 40:5=
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